La fleur au fusil – The Flower in the Rifle

The first battles of August 1914

A game by Jean-Claude Delhez

Translation by Elias Nordling

[The translation incorporates the errata from VV#69. Green text are additions by the translator; interpretations of unanswered rules questions and the like. Consider them inofficial.]

La fleur au fusil simulates the battles of August 22, in the centre of the French-German front, on Belgian territory. It matches the French main offensive as planned in Plan XVII by general Joffre. This attack was conducted by the IV Army, with the town of Neufchâteau in the Ardennes as its main objective. The attack was spearheaded by the Corps Colonial, the best troops of the French army. It is a 2-player game, one player taking command of the forces of the French army, the other the Germans. A six-sided die is required for play.

0 – General

0.1 - Scale

A counter represents either an infantry battalion (line infantry, colonials, reserves or light infantry), an artillery group, a cavalry regiment or a headquarters (état major, EM). The Germans (green) have 68 counters (+7 in scenario 4) and the French (blue) have 53 (+3)

0.2 – Terrain

The map covers an area of 16 (north to south) x 14 kilometers. Each hex measures about 800 metres. The type of terrain (see the terrain key) affects movement and combat.

1 – Units

The counters represent the headquarters (brigade, divisional and corps), infantry battalions, artillery groups and cavalry regiments. The French are organized into brigades, each brigade comprising of 2 infantry regiments of 3 battalions each. Artillery groups, cavalry regiments and light infantry (chasseurs) battalions are attached to the brigades as needed for the occasion. The whole is commanded by a brigade headquarters. Some units are considered independent (78th and 138th RI, that appear in scenario 4).

On the other side, the Germans are organized in divisions and army corps. Each division, under the command of a specific headquarters, includes infantry units (line, reserve and light battalions), cavalry and artillery. Two infantry divisions (ID) form an army corps (AK) under the command of a corps headquarters, though the cavalry division (KD) in the game remains independent.

The coloured band on top of the counter marks the parent brigade or division of a unit. The text in the coloured field identifies the parent regiment (or battalions for light infantry). The number in the bottom right is the Movement Allowance of the unit. At the bottom left is the troop quality of the unit: inferior (a “-“ sign), normal (no sign) or superior (a “+” sign). Inferior troops are reserves and other understrength units. Superior troops are colonials and light infantry. The rest (line infantry and cavalry) are considered to be of normal quality.

Each unit has 1 to 3 steps. The red number on the middle right shows the number of remaining steps. At the start of the game, all units are at full strength. As they take step losses in combat, reduce them by either flipping them over or removing them from the game. The battalions of light infantry have 3 steps, represented by 2 counters (replace the turned over counter with the replacement counter as the last step loss is taken). Infantry battalions have 2 steps, while cavalry and headquarters have one step each. Artillery units have only one step. The front and back are used to show if the unit is deployed for movement (back) or fire (front). The counters have a white band on the back to differentiate it from the front.

2 - Sequence of play

A game lasts 7 Game Turns (6 in scenario 3). Each Game Turn consists of two Player Turns, the French Player Turn followed by the German Player Turn. The Player Turns are identical, except that during the French Player Turn, the French player is the active player while the German player is the inactive player. In the German player turn, the roles are reversed. Each Player Turn follows the phases listed below:

1) Administrative Phase

The Turn Marker (showing a wristwatch) is placed on the current Game Turn, with the side of the current Player Turn facing up.

2) Command Phase

The active player checks if his units are in command. “Non commandé” (Out of Command) -markers are placed on units unable to trace command.

3) Movement Phase

The active player moves some or all of his units up to their Movement Allowance. Reinforcements enter the map. Artillery units on their movement side that remain stationary during the phase are turned over to their fire side. Place Rally markers on units attempting to rally. They have to remain stationary and stacked with their headquarters to rally.

4) Rally Phase

The active player attempts to rally the units so marked and removes the Rally markers afterwards. He removes all “Barrage d’artillerie” markers and places the aerial reconnaissance marker (German only). If none of these activities apply, go directly from the Movement Phase to the Combat Phase.

5) Combat Phase

The active player resolves combat with some or all of his units able to attack. Each combat is resolved completely before moving to the next. The phasing player chooses in which order to resolve the combats.

3 – Zones of Control

3.1 – Effects of Zones of Control

A unit exerts a Zone of Control (ZoC) into the six adjacent hexes. It has the following properties:

· A unit that enters an enemy ZoC must stop and end its movement.

· A unit that starts in an enemy ZoC must pay 2 movement points in addition to the terrain cost to exit the hex.

· A unit can never move directly from one enemy ZoC hex to another. A unit starting in an enemy ZoC can move to another ZoC as long as there is at least one hex in-between without a ZoC.

· A unit retreating into a ZOC after combat loses an additional step.

· A Line of Communication cannot be traced through a ZoC hex, unless a friendly unit occupies the hex.

3.2 – Absence of Zones of Control

Headquarters and artillery units do not have ZoCs.

ZOCs have no effect on Forest or Village hexes. Neither do units in Forest or Village hexes exert ZOCs out of such terrain. Exception: if two adjacent village hexes both have enemy ZoCs in them, a friendly unit moving from one to the other must end its movement. If a river without a bridge separates the city hexes, such movement is not allowed at all.

4 – Stacking

4.1 – Stacking limits

Friendly units cannot enter hexes containing enemy units, with the exception of an attack on headquarters or artillery alone (see 7.10).

At the end of a player’s Movement Phase, a maximum of 6 steps (the red number on the counter) of units can be in a hex, regardless of terrain. Headquarters and artillery are considered to be 1 step each, other units their current step level.

4.2 – Road stacking

If a unit uses road movement to negate the terrain cost of a hex, it cannot end in a road hex stacked with another unit. It can move through other units along the road. Exception: headquarters don’t count for this, and line infantry (not light infantry) can stack up to two units in a road hex.

4.3 – Stacking after retreating

If a retreating stack ends up in a hex already containing friendly units, so that the total exceeds the stacking limit of 6, select enough units that were in the hex before the retreat that the stacking limit is no longer exceeded. These units then have to retreat one hex. If these units can’t retreat without ending up in another overstack, the originally retreating stack is eliminated instead.

4.4 – Allowed overstacking

During the Rally Phase, overstacking can occur due to a unit rallying. This is allowed as long as the stack is broken up in the next friendly Movement Phase. If this is not possible (due to the stack being surrounded), surplus units are eliminated (owning player’s choice which). Units may setup overstacked at the start of a scenario as long as it is corrected in the following friendly Movement Phase.

5 – Reinforcements

Not all units are on-map at the start of the game. Units starting off-map (because of limits in their camps) enter at specific turns as listed in the scenario instructions. The entry hexes are marked on the map with the national flags to make them easier to find. Reinforcements enter in the Movement Phase of the listed turn. Units entering the map can use their full movement allowance, and has to pay movement points for the hex of entry. A unit is allowed to attack the turn it enters.

If enemy units occupy the entry hex at the time of entry, the reinforcement is delayed one turn. It is possible that reinforcements don’t get to enter the game because their reinforcement hexes remains occupied by the enemy.

6 – Movement

In the Movement Phase, the active player can move some or all of his units up to their Movement Allowance. The Movement Allowance is printed on the counter (9 for infantry and artillery, 15 for cavalry and headquarters). Each hex has a movement cost based on the type of terrain in the hex, as listed in the Movement Table. A unit moving along a road pays the road movement cost instead of the terrain cost for the hex. If a unit leaves the map, it cannot return. Enemy ZoCs (rule 3), stacking (rule 4) and being out of command (rule 9) can affect movement.

An artillery unit that spends any movement points during the Movement Phase is flipped to its movement side, which means it cannot participate in the ensuing combat. Artillery units of the active player that remain stationary throughout the Movement is flipped to its fire side.

7 – Combat

In the Combat Phase, all units of the active player (except artillery units on their movement side and headquarters which have no combat capability) can attack enemy units within range. Infantry and cavalry units have a range of one, they can attack adjacent units only. Artillery units (on their fire side) can fire out to 8 hexes, except for German foot artillery (sAR 6) that has a range of 12 hexes.

A unit can only attack once in the combat phase, though it can defend against several attacks (and possibly cause damage to the attacking units) in the opponent’s Combat Phase. The game separates between infantry/cavalry combat and artillery fire.

The attackers can come from more than one hex, but there can only be a single defending hex in a combat.

7.1 – Infantry & cavalry combat procedure

Infantry and cavalry combat is resolved by rolling one six-sided die. The result is read as follows:

1:    Attacker loses one step

2:    Attacker retreats one hex

3-4: No effect

5:    Defender retreats one hex

6:    The defender loses one step

7+:  The defender loses one step and retreats one hex

The die-roll is modified by the troop quality of the involved units, combat losses, artillery support, terrain, pinning, and additional units. All modifiers add up.

7.2 – Troop quality

Troop quality affects the combat resolution as follows: Superior troops (those with a + on the counter) give a +1 on the die if attacking, -1 if defending. Inferior troops (-) give a –1 to the die if attacking, +1 if defending. If both sides have the same quality, there is no modification.

7.3 – Combat losses

A unit that has taken a step loss suffers a –1 modifier on combat if attacking, +1 if defending. A unit that has taken 2 step losses would suffer a +/-2 modifier in the same fashion.

7.4 – Artillery support

Artillery units can support infantry/cavalry belonging to the same headquarters on the attack (only, artillery cannot help with the defense). To do so, the target must be within sight of the artillery unit (8.1). Each artillery unit gives a +1 to the combat die roll. If the artillery is adjacent to the target, it gives a +2 modifier instead. A maximum of 3 (for the French) or 2 (for the Germans) artillery units can support a single combat. The artillery die modifier is divided by 2 (rounded down) if the target is situated in a forest or village hex.

7.5 – Terrain effects

An attack receives a –1 to the combat roll if the defender is in a forest or village hex. The forest modifier does not apply if the attacker is also in a forest hex.

7.6 – Pinned units

If the defending unit isn’t pinned when attacked, the attack receives a –1 to the die-roll. The defender is pinned if at least 2 adjacent hexes are occupied by enemy units (these don’t have to participate in the attack).

7.7 – Combat between stacked units

If more than one unit attacks or defends, the attacker designates one unit on each side that is used to calculate the modifiers above. Each additional unit provides a +1 for the attacker, -1 for the defender, on the combat roll. The additional units don’t affect the other modifiers (like troop quality and step losses). This means that 3 superior attacking units only give +1 (not +3); 2 units defending in a wood have -1 for the terrain (not -1 each).

To attack together, all units must belong to the same brigade (French) or division (German). If units belonging to different formations want to attack the same target, they will have to do so in a series of successive combats.

On a retreat result in combat, all the participating units have to retreat, but a step loss result still only results in a loss to one unit. The loss is taken by a unit that has not taken any losses yet if possible, and the one with the most steps remaining. Attacker chooses in case of more than one candidate.

7.8 – Concentric attacks

An attack where the defending hex is attacked from more than one hex is called a concentric attack. To participate in a concentric attack, a unit or stack must fulfil the following conditions:

1 - It cannot be adjacent to more than two enemy stacks. If it is, the unit or stack must attack alone.

2 – All the attacking units must belong to the same brigade (French) or division (German).

3 – The units must be in command

A concentric attack is resolved like a combat between stacks, it does not provide any special benefit above the ability to bring more units to bear against the same target stack.

If a forest hex is being attacked, and some of the attackers are in forest while others are not, the defender DOES get the –1 modifier for terrain.

Example: A battalion of light infantry with two steps, together with 2 regiments of cavalry, supported by an artillery unit from the same division, make a concentric attack on a hex defended by 2 battalions of line infantry, one intact, the other with one step loss. All are in forest, except for the cavalry.

The attacker gets +1 for superiority in numbers (3 against 2). The +1 for the superior quality of the light infantry is negated by the step loss they have taken. The defending battalion with one step loss gives the attacker a +1. On the other hand, the forest gives the attacker a –1, since one attacking stack is outside of the forest. The artillery, finally, provides no modifier, since it is halved to ½ due to the forest, rounded down to 0. The final die roll modifier adds up to +1.

7.9 – Retreat after combat

If a unit suffers a retreat result in combat, it has to move one hex backwards. This hex has to be the hex directly opposing the one the enemy unit fought, if possible. If this hex would be impossible to enter, or cause losses to the defender, he can choose another hex to retreat to. If the hex the unit retreats to contains an enemy ZoC, the retreating unit suffers another step loss, unless a friendly unit is in the hex. Retreating across a river hexside without a bridge also causes an additional step loss.

A retreat that would cause an overstack is handled as per 4.3.

If a retreating stack contains headquarters or artillery and the opponent has cavalry participating in the combat, the stack is unable to retreat and suffers an additional step loss instead.

If a unit is unable to retreat due to being surrounded completely by the enemy or impassable terrain (for artillery), it is eliminated.

If the defender’s hex is completely vacated, due to retreat or elimination, one or more of the attacking units, up to the stacking limit, can advance into the hex immediately after the combat is resolved. If the defending hex only has headquarters and artillery remaining in it and the attacker has cavalry participating, the cavalry units can advance into the hex, eliminating the headquarters and artillery.

7.10 – Destruction of headquarters and artillery

Artillery and headquarters can be destroyed by bombardment (8.3) or if attacked by infantry/cavalry. If alone in a hex without defending infantry or cavalry, enemy infantry/cavalry can eliminate these units simply by moving into the hex. Artillery and headquarters have no ability to defend themselves. Artillery can also be eliminated in advance after combat, see 7.9.

8 – Artillery

8.1 – Artillery deployment

To participate in combat, an artillery unit must be in fire mode. An artillery unit that remains stationary the entire movement phase is flipped to fire mode. Artillery units in forest or village can never enter fire mode.

In the Combat Phase, the artillery unit must be within range (8 hexes max, 12 for sAR 6) and have a line of sight to the target. To trace a line of sight, draw a straight line between the artillery unit and the target hex. If the line passes through an intervening hex containing forest, village or a hill, the line of sight is blocked. If the artillery unit is situated on a hill, the line of sight can be traced out to its maximum range. In a plain hex, it can only be 2 hexes long. In either case, the artillery can fire at targets on the first hill hex within range, never on the hill hexes behind the first one (they are hidden). The same thing goes for the forest, the artillery can fire at targets in the first forest hex within range, but not on forest hexes behind the first one.
Artillery can participate in combat in three ways: By giving support to infantry/cavalry attacks, by bombardment, or by interdiction barrage to block the use of a bridge. An artillery unit can only do one of the above, once per Combat Phase.

8.2 – Supporting fire

In supporting fire, artillery gives a die-roll bonus to an infantry/cavalry attack. Each artillery unit that participates in an attack gives a die roll modifier of +1 to the combat. The bonus can only be applied to attacks by units from the same brigade (French) or division (German) as the artillery unit, and that are in command. The Germans have some corps artillery (sAR 6, belonging to 6th Korps), which can support either division (ID11, ID12) of the corps.

The fire modifier is +1 per participating artillery unit, unless the firing artillery is adjacent to the target, in which case it gives a +2. The modifier is divided by 2 (rounded down) if the target is in a forest or village hex. A maximum of a full artillery regiment, 3 units (French) or 2 units (German) can give supporting fire to a single attack.

8.3 – Bombardment

An artillery unit can bombard an enemy stack, if that stack has no units friendly to the bombarding artillery adjacent, except possibly the artillery itself. Roll a die for each bombarding artillery unit. A roll of 6 destroys a step in the defender’s hex (infantry, cavalry or artillery, defender’s choice). If the bombarding artillery is adjacent, a 6 destroys one defending unit completely. A roll of 5 will give the same result as in the two cases above if there are 5 or 6 steps stacked in the defending hex.

If the target hex is a village or forest hex (bordering the open, to make a line of sight and artillery deployment possible), two artillery units are required to make one bombardment die roll.

The German artillery belonging to AK6 can bombard beyond its line of sight with the help of aerial spotting. See rule 11.

8.4 – Interdiction barrage

Interdiction barrage is a special form of artillery attack, directed at a bridge across a river. The artillery targets one of the hexes adjacent to the bridged hexside, within the usual restrictions (fire mode, range and line of sight). A barrage marker (the one with an artillery silhouette on it) is placed in the hex. In the next enemy Movement Phase, any enemy unit crossing the bridge loses one step (except cavalry and headquarters, which are unaffected). The barrage marker is removed in the following Rally Phase.

8.5 – Eliminating artillery

Artillery units can be eliminated in the following cases (see also 7.10)

· By bombardment

· By enemy units entering their hex in the movement phase. This can only happen if they are not stacked with friendly infantry or cavalry.

· When artillery ends up alone in a defending hex in combat, and is unable to retreat because of cavalry (7.9).

· When unable to retreat because it is encircled.

9 – Command

9.1 – Lines of command

To operate at full effectiveness, a unit must be able to trace a line of command to its parent headquarters, which in turn is able to trace to a friendly map edge. For the French, the left (west) and lower (south) map edges are friendly. For the Germans, the right (east) and top (north) map edges are friendly. A line of command cannot enter a hex occupied by the enemy. It can enter a hex with an enemy ZoC only if that hex contains a friendly unit.

A unit has to be within a certain distance from its headquarters to be in command. French infantry and artillery has to be within 5 hexes of their brigade headquarters. French cavalry must be within 10 hexes. German units have to be within 10 hexes of their divisional headquarters, which in turn has to be within 10 hexes of the corps headquarters. The sAR6 has to be within 10 hexes of its corps headquarters.

Independent units (78th and 138th RI) are always in command, as long as they can trace to a friendly board edge. The same applies to troops whose headquarters has not entered the game yet.

9.2 – Out of command effects

Lines of command are checked in the Command Phase at the start of the turn. Units of the active player that are found to be out of command are marked with an Out of Command-marker (the one with a field phone and a red dash). These units suffer the following penalties:

· They can not participate in concentric attacks

· They cannot give or receive artillery supporting fire

· The movement capacity is halved, rounding down

· Units in a ZoC cannot move at all

In the Command Phase of the following turn, units marked Out of Command that can now trace command have their markers removed. Those that still can’t trace have the markers flipped to their back (blank side). They continue to suffer from the first two penalties (concentric attacks and artillery support) but recover their full movement allowance.

9.3 – Eliminating headquarters

If a headquarters is eliminated, the units belonging to it will be out of command for the rest of the game. A headquarters is eliminated in the following circumstances:

· It is not stacked with friendly cavalry and infantry, and enemy units enter its hex during their Movement Phase.

· When a cavalry regiment enters its hex as an advance after combat when the headquarters is no longer stacked with friendly infantry/cavalry (due to elimination).

· It is unable to retreat after combat, due to being encircled, having to retreat into a ZoC, across an unbridged river or into an irresolvable overstack.

· By artillery bombardment

9.4 – Rally

In addition to putting units in command, headquarters can be used to rally infantry units that have taken step losses. During the Movement Phase, the active player can place a Rally marker (the marker with a yellow flag and an R) on any headquarters that is stacked with units of its command that have taken losses. Rally markers cannot be placed on headquarters that are in an enemy ZoC.

In the following Rally Phase, before combat, roll a die for each unit under a rally marker. On a 6, the unit recovers a lost step. Light Infantry battalions can never recover to full strength once reduced to one step. [Translator’s suggestion: put a rally marker under the unit as a memory aid] A unit can rally more than once, if it takes step losses again during subsequent turns.

10 – Cavalry

Cavalry differs from infantry by the number of step losses they can take (one only) and by the movement capacity (15 movement points instead of 9). Cavalry also give some benefits to attacking artillery and headquarters. If a cavalry unit participates in an attack against a stack containing these units and a retreat result is achieved, the entire stack is prevented from retreating, taking an additional step loss instead. If this leaces the artillery/headquarters alone in the hex, the cavalry can then advance and occupy the hex, eliminating the artillery and headquarters without attacking or spending movement points.

In addition, an artillery bombardment at one hex distance would on a roll of 6 be able to eliminate a full battalion of infantry (up to 3 steps), but an eliminated cavalry regiment would still only be one step lost. Cavalry is also immune to interdiction barrages against bridges. Finally, French cavalry can trace command up to 10 hexes to their brigade headquarters, as compared to 5 for infantry and artillery.

11 – Aircraft

The German player has a counter representing the squadron of reconnaissance aircraft attached to AK6 (FFA13). It allows one artillery regiment belonging to this corps (FAR 6, 21, 42, 57 or sAR 6), that is in fire mode and within range of an enemy unit, but doesn’t have a line of sight, to bombard the enemy unit anyway. During the German Rally Phase, if there is any artillery fulfilling the conditions above, the German player can place the “FFA13” marker on the artillery unit.

During the Combat Phase, the artillery can bombard this target without a line of sight, albeit at reduced effectiveness. A 6 is still required to hit, but the target hex must contain at least 3 steps for the fire to have a result. Unlike regular artillery bombardment, a stack of 5 or 6 steps do not give an increased chance to hit. Finally, the fire would have no chance to hit against a forest or village hex.

The “FFA 13” marker can only be used against one target per turn, to the benefit of any regiment of AK 6. This regiment can be a different one from turn to turn, and some of the units in the regiment could perform other fires instead, at the player’s choice.

12 – Scenarios

12.1 – Basic scenario

The Basic scenario starts at 6 hours, 22th August 1914, when the units left their camps. Their positions and entry times are the historical ones. The setup looks as follows:

*French

- 1st brigade coloniale

1st RIC = Saint-Vincent (1024)

3rd chasseurs = Valansart (0423)

- 5th brigade coloniale

Headquarters + 21st RIC = Jamoigne (0422)

23rd RIC + 3rd RACC = Les Bulles (0520)

- 87th brigade

19th chasseurs = Bellefontaine (1226)

*Reinforcements

Turn 1

- 1st brigade coloniale

Headquarters + 2nd RIC + 2nd RAC = 0828

- 87th brigade

Headquarters + 120th RI = 1228

Turn 2

- 3rd brigade coloniale

Headquarters + 3rd RIC + 7th RIC + 3rd RACC = 0828

- 87th brigade

147th RI + 42nd RA = 1228

Turn 3

- 87th brigade

9th BCP + 18th BCP 1228

Turn 4

- 6th brigade coloniale

headquarters + 22nd RIC = 0123

Turn 5

- 6th brigade coloniale

24th RIC + 1st RAC = 0123

*German

- AK 6

headquarters + sAR 6 = Léglise (1608)

- ID 11

headquarters + Gren 11 + IR 51 + FAR 42 = Thibessart (1810)

Gren 10 + Füs 38 + FAR 6 = Mellier (1511)

JzP 11 = 1611

- ID 12

headquarters = Léglise (1608)

IR 23 + FAR 21 (1 unit) = Neufchâteau (0602)

FAR 21 (1 unit) + IR 62 + UI 2 = Bernimont (1106)

IR 63 + FAR 57 (1 unit) = Nivelet (1408)

IR 157 + FAR 57 (1 unit) = Lavaux (1208)

- KD 3

JzP 7 + JzP 8 = Houdemont (2118)

Hus 14 = Rulles (1819)

Drag 5 = Villers (1921)

JB 6 = Orsinfaing (1518)

- RAK 18: RID 21

headquarters + RIR 80 + RIR 87 (2 units) + RFAR 21 + R Drag 7 = Ebly (1601)

RIR 87 (1 unit) = Neufchâteau (0602)

*Reinforcements

Turn 1

- KD 3

headquarters + FAR 11 + Drag 23 + Drag 24 = 2219

Turn 4

- RID 25

headquarters + RIR 83 = 0901

Turn 5

- RAK 18

headquarters = 0901

- RID 25

IR 168 + RFAR 25 = 0901

The scenario ends at the end of turn 7. The winner is determined by the occupied terrain, and to a lesser extent the losses inflicted. At the end of the game, possession of certain villages give the each player victory points (VP). These villages can be occupied by the player, or simply behind the Player’s frontline. The points are as follows:

GERMAN

Rossignol (1118) = 6 VP

Tintigny (1424) = 6 VP

Les Bulles (0520) = 8 VP

Izel (0121) = 10 VP

Suxy (0312) = 6 VP

FRENCH

Neufchâteau (0602) = 10 VP

Léglise (1608) = 12 VP

Etalle (2225) = 8 VP

Suxy (0312) = 6 VP

In addition, count the number of completely eliminated enemy units. The player that has lost fewer units gets points equal to the difference. To win the game, you need at least 10 points more than your opponent, otherwise, the game is a draw.

12.2 - Wachenfeld’s mission fails

This scenario assumes that the mission of captain Wachenfeld, sent on the night of 21/22 August to request that AK 6 would support the German V Army, fails. As a consequence, AK 6 remains in its positions on the day of the battle.

At the start of the game, All units of AK 6 are frozen in place. These units have to stay in place until French units move within 5 hexes of any unit of the corps. The turn after that, the Corps regain its full movement and combat potential. Regardless of French movement, AK 6 becomes fully active and can move freely by turn 4.

Otherwise, this scenario uses the same setup, reinforcement schedule and victory conditions as the Basic scenario, with the exception that the French player subtracts 5 VP from his result at the end of the game.

12.3 – The historical situation

This scenario tries to follow the historical fight more closely by skipping the first turn of maneuvers and start on turn 2. The units are placed in the positions they occupied at 8 hours, reducing th ability of both sides to maneuver from their camp positions.

Troop positions at 8 hours:


*French


- 87th brigade


headquarters + 19th chasseurs = Bellefontaine (1226)


120th RI = adjacent to Bellefontaine


- 1st brigade coloniale


1st RIC = 0915, 1015, 1115


2nd RIC = 1023, 1122, 1222


3rd RIC = 0828, 0927 (2 units)


2nd RAC = 1025, 1026, 1027


3rd chasseurs = Rossignol (1118)


headquarters = 1024


- 5th brigade coloniale


21st RIC = 0314, 0415


headquarters + 3rd RACC = 0416


23rd RIC = 0417, 0418


*German


- AK 6


headquarters + sAR 6 = 1614


- ID 11


JzP 11 = 1324


Gren 10 = 1423, 1424


Füs 38 = 1521, 1522


FAR 6 = 1620, 1621


Headquarters = 1621


Gren 11 = 1618, 1619


IR 51 = 1617, 1716


FAR 42 = 1615, 1715


- ID 12


IR 157 = 0914, 1014, 1114


IR 63 = 1012, 1013


FAR 57 = 1010, 1011


Headquarters + UL2 = 1009


IR23 = 0907, 1008


FAR 21 = 0806, 0807


- KD 3


Within a 2 hex radius of Villers (1921)


- RAK 18 : RID 21


headquarters + RIR 87 (1 unit) + R Drag 7 = Neufchâteau (0602)


RIR 87 (2 units) = 1101


RIR 80 = 1201, 1301


RFAR 21 = 1401, 1501

The reinforcement entry (except for the units from 3rd RIC already on map) and the victory conditions are the same as in the Basic scenario, except that the German player suffers a 5 VP penalty.

12.4 – The reserves intervene

On the Neufchâteau front, the Germans had the 50th brigade (RID 25) in reserve during the battle. On the French side, the 12th corps, engaged immediately to the west of this village, gave late and useless support to the battle with the 5th brigade coloniale. This scenario assumes these two units were effectively engaged in the battle.

The 50th brigade (RIR 116, RIR 118, R Drag 4) enters the game on turn 6 at 0901. The same turn, 2 battalions of 78th RI and one from 138th RI (12th corps) arrive at 0108. The latter are considered having constant supporting fire from 3 artillery units (not represented in the game) and are always in command as long as they can trace a line of command to the west board edge. This scenario can be used together with any of the other three scenarios, using the information from them as the base.

ERRATA:

Map:

Bernimont should be in 1106, not in 1104

Counters:

One unit of the German Jä.Bt of KD 3 has only one step on the backside, it should have 2.

Four German artillery units (of RFAR.25 and RFAR.21) have a printed movement rate of 15 on their movement side. It should be 9.

German UL 2/12 has an inferior rating as printed. It should be normal.

German R Dr.7 has a normal rating as printed. It should be inferior.

(Corrected counters for all these were printed in VV 69)

Clarification:

Rivers do not have any effect on combat or ZoC, due to the firing distance and hex scale of the game. The only effect is the penalty for retreating across a river (7.9).

COMBAT TABLE

1:    Attacker loses one step

2:    Attacker retreats one hex

3-4: No effect

5:    Defender retreats one hex

6:    The defender loses one step

7+:  The defender loses one step and retreats one hex

Modifier checklist:

Troop quality (7.2)

Combat losses(7.3)

Artillery support (7.4)

Terrain (7.5)

Pinning (7.6)

Additional units (7.7)

All modifiers add up.

MOVEMENT TABLE:



Inf
Art
Cav
HQ

Road
1
1
1
1
Plain, Hill
2
2
2
2

Village
1
1
1
1
Forest
3
3
5
5

Bridge
1
1
1
1
River
+4
Prohib.
+4
+4

Exiting 

ZoC

+2
+2
+2
+2
